TYy—7 SUMPORIESAIITISF A

g s —BHADEAT RT T TR EREWE

T FATIMERIRES (EPD) FRBFRBXABEB1-14-8

R Z%%ES ¢ JR-AJ-19008E-A https://ecoleaf-label.jp
4 NIPPON STEEL CTH:SH
BEESHRST (T-shapes)

T T T

[LE%5 g R5 LRl
(IEHTE#E D4£38) (CPIBHTEE D43 (fIBHEEDER)
HEH EREBES JR-AJ-19008E-A
EAPCREBE PA-180000-AJ-06
Lt PCR% EERF R A (FPREEY)
HEXRERE yN:s|S| 2019412868
O ERH&EA m HRES RIS E 2024518128
BUSERRE (EATRIEE. EATRI OB, BIESR ERRIRES T
RDORE) BLURIEE BIfES V-AJ-24007
RROBN, EBMHR-Fx REEAZIAE 20244 11828H
BUEA N FFRLIBERPR . EIRBRIERAR PCRLE 1— 05

F1AR4E : SNA00A,SN400B,SN490B,SM400A,SM400B,

E;\Jl_.ﬂ aras
SM490A,SM490B,SM490YA, SM4A90YB, 55400 RERF 2023457108

SMA400AW,SMA400BW,SMA490AW,SMA490BW £ER ¥ =

FZAR : CTHzER e
FEKRF

U AR (HfTn, t=R) : *

[0 H50(t6)xB100(t8)~H249(t45)xB432(t70) B=EIRE*

g H74(t6)xB100(t9)~H459(t19)xB303(t37) SEPIREEE /B Eig

H#TE H75(t5)xB75(t7)~H300(t11)xB200(t17) 1S0140258 KTNISO21930(CHE D e AEERUFT—HD

FLWahE % IRYT UTEARSE
ARSI AL IR m5Hap
EMBAFESMNTE FREEMRIME
TEL : 03-6867-6385 *SRT LRI ER T TR EAADIGIDNEG(F. 2 RF LFRELIZEITD

EEABOREIZ L.

Ei&ES . JR-AJ-19008E-A

https://www.nipponsteel.com/



IaJ->J SUMPOEIESANII OIS A

o gy — —RAEEAD RT T I IR EHEERE
91 jﬂuiiﬂgﬁ (EPD) ERAFROEASBE-14-8
Z538= : JR-AJ-19008E-A https://ecoleaf-label.ip

OS5 A TYA DIz & liER
SURZE) IPCC 2013 GWP 100a 1300 2500 |kg (co2iE)
[ivgezle -0.15 1.7 |kg (so2i8)
HAEFEAFSSF> S 0.045 0.30 |kg @FLomm
X1 : AL~A3BLUDDAST %2 : AL~A3DAS
PIER B =:1iv) AL~A3EEH| (A1) manmE| (a2) EHEow| (A3] REORE (D] RiizmiE
ZURZEE) IPCC 2013 GWP 100a | kg-CO,eq | 2.5E+03 || 5.9E+02 | 1.1E+02 | 1.8E+03 -1.2E+03
FV > EhiE kg-CFC-11eq| 1.1E-06 2.9E-07 7.2E-10 7.9E-07 -2.2E-07
[izdeale kg-SO,eq | 1.7E+00 || 4.7E-01 6.4E-02 | 1.2E+00 -1.8E4+00
KEZEAFIAS S kg-C,Hseq| 3.0E-01 4.6E-03 1.1E-03 3.0E-01 -2.6E-01
EXREL kg-PO,>eq| 2.5E-02 1.6E-05 6.5E-13 2.5E-02 -2.2E-02
B BB
IHE Bi{yy
BN BEEE 8.1E+02 kg ORIHERZZE S LT, JIS Q 20915(CE DK #iAtRloU Y o
JERATIRE T RILF— 2. 8E+04 MJ JILWRZFHEL. EiEdx (D] (CrOEZERSH UL, BiEs
BaAOlfesE 9.0E+02 kg 29 LiEnx (A1l ~ [A3] O&FHEICIEEINDS.
BArRE T RILF— 1.6E+02 MJ SECFERLEUYrOILERIFI3.1% (GTEIFIIS Q 20915
RIKDHE 2.6E-01 m3 [CHEVY. 2014FEDERT—4 (HE : BASKIMER, X
FoILEVUYAOIUGR) ZEH)
QMR RUINEICEIT Q%S F 1 AFPCRICHED 2o
"8 i DHLUNE, HRERBBARUEDE LIREDSSBADED
# [Fe] 297.4 (% S
PR [C] =0.25 |% QEHEES (85, —RESBLEL0LTE, 201445
0”(% [Si] =0.55 |% El EEAELE.
X>A= [Mn] =165 |% OFRFHEF. [ES] >— M1 (CRBUAZEMSHIED(F
> [P] =0.05 |%
7 ] =005 1% hh. HHSEIEAHE & L TSNA00C,SN490CH 5.
@ FEZRY)EhE %
HE Bi{yy
BEREY 0.00E+00| kg
BEREZEY 1.89E+00 kg

XSAITHAVIICHITRENEERLTVET.




IaJ->7 SUMPOEIESANII OIS A

S —BHEEAT 7T T BRI
ol 51 IRESS (BPD) ERETFROZNBE1-14-8
Zi5&ES : IR-AJ-19008E-A httos,//ecoleaf-label.io

©-1.CDDRIERE S
ISO14001RBETH CEEL TS

®©-2.5FME(CEY 1Rk
1= CAS No. BERE

N> 7439-96-5 T EHEEMITS

QERLEZRT—IDERS
IDEA2.1.3%ERAL. #$RISvIDT—FICHLTIE. BRSBERDT —5 &M,

®fFES
2024 1 ASMRT O X RDEDRVVEIELE LTz,

O —FHEDA L. PCREKLUVERE - ESMEZSRLUTIZE,
OLEE(CDWTI(E. BE - EEMEICHESNIERHZ/I UILBZECUNRHESNEE A,
(Z885EURL : https://ecoleaf-label.jp/regulation/)

Eix&S ¢ JR-AJ-19008E-A



